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3w Prafifes oot & owe 31 & forg we@ aftra e gRva

Direction : Answer the following questions by selecting the fﬂout appropriate option.

=l

1. amivre-wieplos Rem R R 1. Socio-cultural development theory
& S e @ ? was propounded by whom ?
) Prewt (1) Kohlberg W,
@) TR (2) Erickson '
@) Rt (3) Piaget
(4) e (4) Vygotski .
2. fFr=fofas & @ B9 aw g 2. Whichlof the following is only
gy erar & ° influetiged by environment ? {4
(1) AHTEH & (1) Méntal abilities Pl
(2) FaT (@ Emotions A
(3 g @) Attitude
SR LN (4) Interest AR

A e

3. frefafad # & F-@1 T UG 3. Which of the following is |
fareroT—aferTs EEEk & g appropriate tea
' strategy ? :
(1) TEH AT (1) Co-operative
(2) FAFEYel HE * (2) Joyful lea

4. Frefafeg & @ P9-91 FF SW 4. Whic
A T GO g9 gRiked
e @ ?

(1) STJEY FEER HEd &
(2) GEIfos AMEOSt H qad Bl |
Haa & o 5
(3) T ofgfe RRE F@E
ORCECEE RIS
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(3) sER
@) T

6. Frirag ¥ & S FUN TR
AT & 79 &9 § qRea He & 7

(1) T 399 AgET g1 D o4 ©

(@) 95 Fga AYET Td GHee ¥
3§ Reg g1 3 fom @

(3) 3E 399 offE &y § dfua S
3 fog 8

(4) T T g= & fog 2

7. Frafied § § P91 e I= A
@ﬁmﬁmﬁﬁmqﬁaﬁﬁaﬁfaﬁaﬁ

B2

(1) =1
(2) IRy
(3) it ST :
(4) e

8. Fr=ifiad & & FiT-a1 FUT g
R % @49 ¥ 98 78 § 7

allaly

(1) Jafr Rrar dsras asr &
2rdr 21

©2) FFF P FhraTEE aFr B
TEl 913 S 2

(3) FFF o oRtuw @ o
st 2t R

(4) ¥t RFrr @ o
ST & 738 T
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not related to the physical changes

(2) Individual difference:
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» ! l
d comprehensive
In com-in’uf:::ﬂc;none does not come \ 9. Fr=tfarf
evama:ziiholastic assessment ? tg‘?mﬁ.l
urd(:irorn; {nssignments 0;’
’EZ; Aesthétic Activiti€s o E
(3) Attitude ’ o
(4) Values o @ B
; Jowing stater®
. Which o,f,, the fol. e inclusive 10. Fr=f
correctly’| defin 8l
educatioftﬂ'-’ . J children . afam
1) This isonly for disable . e
@) =t disabled and 1',
@ This 8 only for disabled. @
socially packward chﬂdxe' ” @
(3) This is only for economically ﬁ
deprived children @

(4) Thisis for all children

Which of the following option is

in children ?

(1) Height

(2) Circumference
(3) Internal Organs
(4) Perception i (8

4 . : ‘ . =
Which of the following statement i
not correct regarding individ
differenc:;h’s 2 e S

found in the P
domain.

(3) Individual &Iff '


https://applink.adda247.com/d/XhqWf9lSap

A--_Emﬂ

sive

" S Fefifwm ¥ g «
REINEREES il

(a) gfcamg (loy sTToT
(c) G4 (d) Sfcsifiy
T&l B H FIT Hi

(1) (a) T (b) &
(2) (b) T (c)

(3 (a), (b) T (d)
(4) (a), (b), (c) T (d)
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9. Which of the following factors is not
related to Vernon's hierarchical
intelligence theory ?

(1) Major factor
[2) Personal factor
(8) Minor factor
(4) Specific factor

10. Which of the following motives
does not affect learning positively ?

(1) Unawareness of progress =

(2) Goal determination behaviours
(3) Social approval ' .
(4) Praiseworthy behaviour

11. Which of the following actions
should be encouraged ufor a
gender-biased free  teaching
learning process ? = {0y : /
(1) Homogenous g‘roupir‘ig‘- : B
_(2) Gender neutral exampl(?i\;

12,
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g g aH ?ﬁtﬂi?. q,’:.
& W-#MT;# arelt ferrasat @ geferd
QT::TW FID g7
¢ el I-I:
2) CLEREL [‘1
(&) arfersrAl &
(4) A
14, P TR d SR
m@'ﬁ* 3 oiaRE G g @
s (b ?
(1) g @ W
(3 & @ W

15. CWSN #Taef &8: ©

() R By daa eg (amhee
AEEHA AT T=)

(@) s Rg R dSiegg (@
SF99%1 a a=d)

@) e Ry Qem Hegw (Rfire
HGFH AT =)

4 fozT g dwe iew
AAIH ATt T=)

16. T% & mER ) Rer @
39 férier 8 7 2
(1) gHast fore r~
(@) Fiisfier Ry ©
(3) Ffcrmdt faren
(4) T fare
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{f the followindg is not a

13. Which © related to the 17. ‘SRS
Personal factor AT AR
Jearner, affecting learning (1) e
[¢)) Aspiration 2) S

(2) Content ,{; (@) T
3) Aptitude Sy 'S (4) T
(4) Readiness Al
Which psychologist introduced the q B
concept of 'inner speech’ in his et
developmental theory ?

(1) Bruner «(2) Vygotski @) 1
(8) Hull (4) Piaget o

' 3)

CWSN stands for :

(1) Children with Social Needs ©
(2) Children with Similar Needs 19. M

16.

&

r(3) Children with Special Needs

(4) Children with Separate Needs

Learning by doing' “is the key
principle of which type of
Education ? |

(1) Inclusive Education
42) Progressive Education {M
3) Regresswe Educatl@ﬂ- 8
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17. ‘TR ,
m?”‘“‘“ﬂ‘i’* PP
(1) Hdes
(2) meaefior
() ®am
(4) HEg

lls nor a
| to ul@

>

bl ST Ll

18. T & W B vt 3 i A
d the /A Pe-ar wuT w7 ¥ ?
N hig

(1) S 3t gl AR B 2
(2) F A e & er T8

g ™

(3)@#3@%%@13%
~

(@) W1 B SRR S A

19. Fr=fefes & @ @9-a@1 e
4 e S R | R
Har 7
(1) Hifers faar
(2) wrefa® AR
(3) fa=r garesfiadn
(4) ArEr fRiaa

20. fEe 9 U9 HeHTS [GeE HEE
¥ fopg SEYROT YT T4l

(1) SITHHTABTT
(2) BB

(3) THTASIEBT
(4) GeIIBRT
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17. Which form of cognition is ‘the
feeling received from the Benses' 7

~(1) Bensation
(2) Perception
(3) Emotion

(4) Imagination

18. Which of the following statement is
not correct in context of child's
emotions ?

(1) Emotions are individualistic in
nature

(2) Emotions do not have the _-
quality of displacement

(3) Emotions are the product of
stimulus )

(4) Expression of emotions is not
the same o

19. Which of the following options
does not correctly describe a
creative child ? (&

(1) Original idea

(2) Bold attitude
(3) Fluency of thought
(4) Convergent thinking

20. Which concept is 1
Piaget in his cogy
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(b) GEERIT AT FXH % g STgeud

P Faedr
(c) JTfFTFH SAABX P ST
(d) 5728 STTaafHTD Hele Pl STl
o
a4 R H =TT T :
(% (a) T4 (c)
(2) (b) T (d)
®3) (c) T (d)
(4) 397 (c)
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21.

22.

4) Remedial Assessment
_ - FeELE
23. According to Kohlberg, w‘mch of t
not
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ologlﬂt belie'\res thaé

‘ sych :
Whl‘:h P tions emerg‘d 24. mﬂ‘

an types ©f €7 qa B 3
ic instincts ? n

from pasl | =

(1) Woodworth

i B : P,
3 Watson .h i
4) McDougall . . -
Assessment of Learning' 1% : 5. favor
| 2S. ~
known as - | =5 %
(1) Summative Assessment _.
(2) Diagnostic Assessment ujj
(3) Formative Assessment (Z} \_

following stages does

under Pre-coiwentional mor
(a) Stage of obedience
avoiding puMM§?¥ q’ e

valic T “TEPL- &)

reward T ek
(c) Stage of mc}ilmd\-!lal ngﬁg i

(d) Stage of good
- relationship

. A
r -

Choose the correct |
(1) @and ()
(2) (b) and (d)
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24. Fr=fifed & @ fv-w @ weet &

TT BN D ol R aRadat
ISy Tt ¥

(1) 9gEg Oy

(2) IT-BA

(3) =T q[a :
(4) wrafEs e RRran

fRreror-aifermy RRafedl § e &
gug 3T T U B ARERS § ?

1) sfa®
(2) ST
3) I’
(4) IMARD

Praffeg & § dW-a A SEd
ﬁmﬁfﬁaﬁﬁ%mmﬁqﬁ%?

(1)@@%@
(2) eramTd SAaeT

(3) ST HABR

() TafafeEdl § TR

ﬁwﬁrﬁaaaﬂwﬁﬁamaﬁm
Hferg @ gPa W € 7

(@ o o s B frad A s

(b) SATETC ST IOl

24.
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Which of the following is mot an
example of developmental

changes ug&er 'disappearance of
old featureg?

(1) Thymu!"__{‘.';land

(2) Baby Hair

(3) Temporary Teeth

(4) Primary sex characteristics

fe/cy

25. Punishing students in teaching-
" learning situations is what kind of
motive ?
(1) Biological
(2) Intern
g;}) E‘.xtern{lﬂ
4) Physiceil;
. L i
26. Which of the iollow‘ing*l-tsi'-

special need of ~ locor
ttiﬁ.llu

r--I
-
!
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28. Wﬁmaﬁwmﬁ%
& R ahe ugw 7@ 87

Q) T oI B @ I} wE
AT
@ TF TG P FET W T A

30. 7= # faFg 6@ A0 @1 SEERT
BT & ?
(1) afte
(2) ¥
3) g
(4) Hrer
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hich way of pxovidmg lea:nmg\ (M :

i udents is not / HIND
experience td"ﬁ st e

w

Lf')
appropriate T ,ﬂ

(1) Relating ns:v knowledge to P

previous knowledge -@5

3 : » .

3(’2-) Emphasizing the use ((2

unisensory b

t& 4 - ._

(€)) Correlating ©n€ sub]ect FI
other sub;e@ -

4) Encouragmrg: feedba_ck .
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il ,('HB"*:N'DK;H‘ S3%) / LANGUAGES (HINDI & ENGLISH)

P : Frifed aelt & Swr 33 & R s o R g

'I'I_ing

nog

to |
31. ™™ ogw w= - 35. Pt § § waifees af P ot
| e i ‘Ew () W o e B A,
of | (1) wefosy, g, wieron amﬁgaﬁ?mmﬁ
= T =q ¥ e
ot Sk o A S fgz)mqﬁmﬂ\%amﬂ‘w’
to A3) F=Hi, I|ifEa, THS N
(4) oMy, ed, Soash @ @ @ A ¥ ogE A A
: T A W I ‘g FE SR
32. §uE # 3 § oFT @5 gha - () @ TER | E SEes
A FUHEE  —  SHEHTT Ty I o @R g e B
a S - g B 36, Tl @ WA ghew foE e ®
: 2 _(3) FIVid — FHHARE Q & 37 - -, '
(4) BA-TET —  STE AR (1) AT, TG, G — FACREED
33. WA i g & SygAT A BifeT N
(1) 7Ed I & W A — @) 9, =S
2 o wfifted qEoAl § — _
o gEuETE G 2
(3) T F FB A & — ™ @i
& @der a1 —
T faswed g
(]) Jga-r:
(=7’
[(2)
¥, (3) (q’
A4) il
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38. Ry P ¥ qwaed & qgEE SN
g e § 7
(1) erg — srge
() §y — "y
(3) gt — uferat
A4) PO — IS

39. SyEt & g @ P-a Rwey gafka

7 27
(1) ST, SIS —  “or IgE
(2) UM, IJYEE  — ‘I9 IgEI
» (3) SUTGE, Ui — ‘o Suert
T (@ s, s for et
d0. e g N gfe ¥ o R
gf
(1) 39 — 39
4 (2) FA — f
3 FF — T ﬁ
L4) §FhT — FHT -

A7 - 99 e 41 § 43 3 IO fRu U
TEIST % SMETY GY &

qd  diqs ST difew fwg & e F
SIS H EvaEd § A gewg A e
2l OEH Ted 4 Wl q0d He @

Ty Aregq 78 99 gt 21
e § S B R fear S ae B,
T 8 o 0 6 T

350 Sl qe” & &Y #
a@ﬁlgﬁm}r T, _
et KGR

w3
o sy

[ Level-1/5101 !

GET IT ON
Google Play

qu'clﬂ T Waﬂ'ﬂﬁ“ﬂ g g IWIENGL“

(1 St e R ivoction i
(2w F_AfrA ’ -
LiE2ARE 46. Which

5 5 1 UW true
(4) GEpT A= ye

qer o angﬁ‘uﬁ qramd e @ ) G

i ?ﬁaﬂﬁ F wEor &l & ? d
(@D) Gﬁ"’ﬂﬁﬂ k| 1

(2) & 9 & ' (2) f
e WWW . @)
(4) o

—I

i # gAY q= B A
2 foRrer & HEH H amww
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pirection : Answ .
er the following questions by selecting the most appropriate option.

i

Pk (1316

f g R / ENGLISH
46. g}:ciro?:eoi the following is not
ole of grammar in

X language learning ?

§ o @ (1) Grammar should be taught
.deductively followed by
inductive application.

(2) Knowledge of grammar is a
means and not an end in itself.

(3) Unless absolutely necessary,
grammatical terminology is to

EJTW be avoided.

1 gﬁ(’ y o (4) Examples that support the rule
are to be taught] exceptions

9T are to be avoided. e

7 ‘ar

i A= 47. Which one of the following is not

9 an advantage of multi-media

' g g materials ?

3 A () improved learning and

retention
_(2) costand technical issues
(3) good learning outcomes

(4) increased interactivity

pirection : (Q. No. 48 to 57) : Read the
passage and answer the

ollowing
wuestions that follow :

servants; yet he has grown so dependent
on them that they are in a fair way to
become his masters. Already most men
spend most of their lives looking after
and waiting upon machines. And the
machines are very stern masters. They
must be fed with coal, and given petrol
to drink, and oil to wash with, and they
must be kept at the right temperature.
And if they do not get their meals when
they expect them, they grow sulky and
refuse to work, 9% purst with rage, and
blow up, and sprg_)éd ruin and destruction
all round them. Sowe have to wait upon
them very attentively and do all that we
can to keep thém in a good teraper.
Already we find it difficult either to work
or play without the machines, and a time
may come when they will Tule “us)
altogether, just as we rule the animals.

And this brings me to the point
asked, "What do we do with |
which the machines have s

and the new energy they '
us ?" On the whole, it mu

and better maé[@ne S
better machines-will onl
more time and st

e third great defect of our civilization
s that it does not know what to do with its
knowledge. Science has given us powers
it for the gods, yet we use them like
all children. For example, we do not
know how to manage our machines.
Machines were made to be man's

what are we to do.
answer, 1 think, is that
become mere €

evel-1/5101 ]
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you will re
beginning that bein |
making and linking beautiful !

. we agreed at the
member fh;l aeilised meant
hings,

thinking freely, and living rightly and
maintaining justice equally between man
and man. Man has a better chance today
to do these things than he ever had
before: he has more time, more energy,
less to fear and less to fight against. If he
will give his time and energy which his
machines have won for him to making
more beautiful things, to finding out
more and more about the universe, to
removing the causes of quarrels between
nations, to discovering how to prevent
poverty, then I think our civilization
would undoubtedly be the greater, as it
would be the most lasting that there has
ever been.

48. Fill in the blank with the correct
option :
The third defect of our civilization
is that it is at a loss to understand
what to do with ............ 1

(1) its machines

(2) science

(3) god and small children
(4) its knowledge

49. Fill in the blank with the correct
option :
According to the author, our
dependence on machines will
makeus..,...... L)
£1) the masters of machines
~(2) the slaves of machines

(3) more uncivilizeq
(4) gods

u

[Level-1 /510, ]
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50. What have machines gaved for usy -
(D time and energy =9
(2) petrol and coal D
(3) science and knowledge @) 1
(4) riches annc}) poverty ——
51. What is the ﬁthor's advice for the 2;’:1‘

use of leisurg

(1) to make Bétter machines

(2) to rule the animals _
4 (8) to become moze civilized
b i d gain
(4) to study science and dain
knowledge

52. According fgi the passage, -

does being 6[_I3i1ized mean ?
(1) love of—fart, making
machines, use of 5...; :

rzOINInIeN

knowledge

love of b
2

freedom in
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for us p
- §4. Find the closest antonym of
“cheerful" in the passage :
(1) sulky A2) ruin >
(3) refuse (4) fear

§5. Fill in the blank with the correct
- e option :

"Yet we use them like small
children" is an example of
(1) metaphor (2) irony

_A3) simile (4) climax

56. Fill in the blank with the correct

option :
"To manage", "to become", "to
work" are .......... :
(1) finites
(2) main verbs
,(3) present participle
(4) infinitives A

at

57. Fill in the blank with the correct
option :
The first two sentences in the

passage are inthe ...........
(1) simple present tense

}2) simple present & piesent

GET IT ON
Google Play
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58. Match the mluwing correctly :
& $

‘) A. Behavipurist (i) Piaget
'—-‘

i*B. Innaterfeks  (il) Bruner

) C. Cognitive (iil) Skinner

WD. Interaction  (iv) Chomsky

(1) A-i, B-iii, C-ii, D-iv

(2) A-iv, BgigC-iii, D-ii 5
—
(3) A-iii, BY, C-i, D-id
(4) A-ii, B-{i}y C-iv, DA
¢ U ey T

59. Which one of t ollown!
principle of teachin Eng
' WY

(3) past perfect

r

Level-1/5101]
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ST = W/ PART — il

T &9 / GENERAL STUDIES Heasomnq S

ud oif¥ETe / Quantitative Aptitude,

WA A, aifde ot aur Qe S o % for
Abili dG. K. & A S o
tyf:r;f?rftm m\;}a;e%egg % fore ge@ Sfd g ost alg'omiate option. B T
Direction : Answer the following questions by selecting the m ———— o
; u(naa then 1lst August (1) ¢
61. IR 1 g A WaEr &, @ 1 o 61. If 1st July is Sunday, 3.
Fr SER will be : /(
(1) FER (1) Sunday 6. AT
(2) ggarT (2) Wednesday
j da S ER
(3) TIER (3) Tuesday |
A9 TEER (4) Thursday (1)
62. FdR ITX R T o1 @ Y a® 62. Sudhir is going in Nozth di‘?"““_; -
T HR g ® M arit ek AR He turns rightjthen right g '
: fBT It &k wrar B g T frg then goes td"{:the left. In which
nslff?}“" feom & o @ & 2 direction is hqtj,ow ? P
‘U (1) F @ 7 _~ (1) North (2) East |
r (3) ufeem (4) =R (3) West (4) South Ya i
PR =l |
63. FIH I TEw, 5 9, 12, 28 &t 30 63. The least number, which is exactly a7t
§ ot fremorr 8, 3 AN divisible by 9, 12,28 and 30, is:
(1) 630 A£2) 1260 5~ (1) 630 (2) 1260
(3) 2520 (4) 5040 A __(3) 2520 (4) 5040
T 64 TF T H 3w 60 Rl 5wy ® 64. A class has téfal 60 students
& @il @ denr e ) wer § that number of-girls are tm
g @9 . TR MRS A st gl § wee of boys. Nitinskcured seve
- *‘H"bc T Aot fopam e e & 3T 9 position in final exami
/\* W aEHa 2 Iu T FE F fpam there are 9 girls ahead
© 9,0{ WD 8 7 _»  then how many boys are
W in class ?
@ 17 @ 9 )
A3) 12 4) 31 »

3) 12

&
[Level-1/5101 E‘E\.{
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| H R 4009, MRAN apvayef sl b |
| : aﬁ | % o examination, a candidate
must get 40% marks to pass. A

a
. o St A orsyrfet .
| & T S, ofw ¥ candidate got 210 marks and faileq

by 90 marks. Maximum marks ig -
4 160 — (1) 600 (2) 700

_ (8) 750 (4) 900
66. IR tano=L Psin0 —gcosp ’
q Psing + gcogp 66. If tano=L  hen PSMO—gcose
T T . q Psind + gcos®
2 _qz v, WAL is equal to :
o 2= Y SR i
pg gt S G
2 2 ) N ;
(2) p2+q2 rr::’ &%\LW 4 2 2_ !
pPi+q Boin, (2 5=l
— .
2
p q’ U N A
3 PP+q? -
2
P
{4) sor
67. Ofd

g & o 05 H FaOr ) 617.
2, 3

A“ tree,l§ .
TR —
(1) 30° @ 487 e | 2 s () 20T
m ')“l:ho ¥ o B
3) 60° T () TBaai
/€ 1) (%) ;5’

I 68. uﬁqn'f?rtﬁwr;mi’rﬁ 11 77 @ X
A @ o ® o 110 T F 10
oA oaC ¥ AR oo E @ aw |
(1) 10% @) 11% _.

% 21 IF
(3) 20% ; A4) %@-a-
evel-1/5101] ﬂ =

I'
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69. uw @ % gty 24.58 af Boar ad

;ﬂﬁm%walaﬁaﬁﬂw

(1) 36.5 df '_(2) A
) 28.5%# ""Wsssw

20. TF ITTHER W @
AT 264 WX} oMt Twe el
924 e &1 T a7 =g ® -

o

=9
\‘A/L»g szJ 14:&8_{ ;‘1'1 (3}\\4 c\q}\)‘*‘
3
3) 21 ’:ﬁ?\" _\\.-,-"1:5"‘
e 26 =
3_"0%‘;‘( (4) 3.5HEY ,ufm M‘F\\ L W
: ¥ = ‘&‘7&’\

= /4(.%#% g ? ‘jjﬁ"'%
' A\
/‘?d (1) 64 @) 256
- / S i (4) 1024
‘g/é\" f
< 12 WW AT W R oop qfy 4 a3
11203@@#{5,4@1?12005@3}
Tl &1 e g
f"- A
o AT 800 77 [ ks —/\.5
‘{/ (2) 1000 B ,\u‘\
. 0 (3) 1050 55 ‘ 4,
V) Y
/y (4) 1080 wqy

12,
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69. The perimeter of a square is thy
same as the circumference of the 13- o
5 Th i E
circle of radius 24.8 cm. The side (
of the square is : ‘ |
(2) 37.5cm

(4) 38.5cm

(1) 36.5cm
-

(3) 28.5cm

70. The curved surface of a cylindrical = 74-
pillar is 264 m? and its volume is
924 m®. The diameter of pillar is :

M) 7Tm
(2) 14m S
(3) 21 m
(4) 3.5m

11.
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7

re is the
e of th 75'::&'3%3?“?“‘“‘.&3,;?[
_ - A, BA Ay nm:} ey R 7
he side () 9§ :‘Q " R L)
(2) 'ﬂ_g : t‘\‘,-“\
1 @ 9= 3 N
(&) T W

of

17
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@ ;| 2
o4 Wkl .
1,4, 27, 16, ?, 36, 343, 64
(1) 25 A2) 125

(3) 625 @ (@) 64
un

f ™
B ;. SEER C BER] o FS

(1) =i
(3) @

O @) 3@
PORG

76, =T @ i B ST UE BN :

AD, HK, OR, ——
(1) UX (2) UY
@) VY (4) VX

7. @ PR g # FIRE 3

QHOEaquQVEa?rZMWEf%-r@T
_qryr ¥ OVER &l

Al 21 g
fer@r ST 553
(1) MWEO

(2) MWOE

(3) WMEO

(4) WMOE

73. If A is the pbrother of the son of B's

GET IT ON
Google Play

.';
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gon, then how is A related to B ?
(1) Son

(2) Brother

(3) Grandson

(4) Cousin

74. Find the missing term of the
following number series

1,4,21, 16,7, 36, 343, 64

(1) 28 (@) 128 s
(3) 625 (4) 64

75. Newspaper : Press: :Cloth:?
(1) Tailor (@) Shop ““/
(3) Fibre (4) Mil '

76. Next term of the t‘ollawmg tter o |
.serigs mé?e \f}% N t ey ﬁ_:_': |

"&b

%
o
cn‘}g
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Rt
FFTT F A #R
(1) e
@) g

(8) T9=Y

(4) ST
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78.

o

79. YN R iif;;a?t:;-m I g
aqrﬁa'ﬁffawaw?p

(1) Mahendra
- (2) Mahender
(8) Mahindra

(4) Mahinder

e
O

80. UF HEA 351 # 2: 7 B orgur # &
Wﬁ‘aﬁaw%@am%:

o

e
(1) 39 2) 78
3 117 .4 273

8. ERAM # i e 2347 forey

Pi-ar 2 ?
D) T (2) e
(3) 7eq . Rq.) Bt
gy
4
82. BT 7 B Ffer et Y
AT g 5 § 9
() 22 @) 24
3) 19 4 06

GET IT ON
Google Play

i he odd one :

78. Find the \ -
(1) July * |

(2) January 3l \ 1

_(3) November 3 — ! -

(4) August 91 ;

79. W}uch name will come in the last in (

a telephone directory ?
ga. |

(1) Mahendra
(2) Mahender 2
_3) Mahindra
(4) Mahinder
EXN

80. A number 351 is divided into two = 3
parts in the ratlg,g_J'Z\Thesmalle: 1
T o) _ h "
partis: at 1> il k- 'I
(1) 39 _2) 78Tk 0T B 89

(8 117 (4) 273 gk

L AH A &

81. Which is the newly proposed

district of Haryana ? )8
(1) Gohana |

(3) Maham

82. How many 3 D@ﬁfi -. &

Agriculture & Rural |

[ Level-1/ 5101 ]
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83. ° F ERRINEE RS i 83. Who was the first Covernor of
A Haryana ?
(e s WATHST et (1) Birendra Narayan Chakraborty
#8) R (2) Dharma Vira
® ﬁ’i‘(a’ S (3) Ranjit Singh Narula )
ast In ® mﬁr:j'tr{' (4) Harcharan Singh Brar
II m
' e &t ﬁ P ag o 84. Which of the following Wild Life
! 3 |~§ q o e & ? Sanctuaries is located in Yamuna
i Nagar ? 1
_E O ST S ST (1) Bir Shikargah Sanctuary
1 (2) STTRET HATARTY (2) Abubshahar Sanctuary — —
VO 3) FAFT AR (3) Kalesar Sanctuary '
er | (4) FosmErE SRy (4) Bhindawas Sanctuary
i Lo 2 '
‘ : TR ! )
B 385. 1857 B am;%ﬁﬁ Attt & S 85. Who was the iéa:de:t G‘éf
v : .
pTA? O rebellious Mewatis during
., \ HICTeW A e
| (1) T&Hd el (1) RahmatAli
] «2) feamra o (2) Bisar,at,{ili - |
1 S ;
| CR Sl
(4) FERX @ | (4) Babur Khan
86. ERATM H TW R werRd 86. The town of T
I B [~ mention in Ma
(1) gT @) (1) Sugh
_(2) (2) Pam
(3) Sifg
(4) R

[Level-1/5101 ] ﬁ |
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87. wWolwad efarm Ry wags @A
PATAT AT E?

Q) e Ry &
(2) 955

(3) ST &R
(4) ReE Tar

88. 373 TS AT R A &
HRfE T o7

(1) S+

(2) wHg

(3) smarT
4) dfrr

89. aﬁwﬁ%ﬁn&mﬁ%wﬁéﬁ%?

(1) 80
(3) 143

(2) 94
(4) 154

9. BEMT ¥ FE wwRa vo 3 A
AT By & 7

(1) 7er
A2) TaE
(3) Tz
(4) Y

[Level1/51y

i

87. Who is the Chairman of the Swf‘n\a Pl e
Jayanu Haryana Institute of Fisca) s
Ar
r—tManagement ? \ tggf_r_ﬁ___
""‘(l) Nayab Singh Saini ,\ g
(2.) Pankaj i
(3) Anurag Rastogi 5. l
(4) Vikas Gupta
88. The partner nation in 37th
Surajkund International Crafts Fair
rwas :
‘_'-| )
g(l) Germany 5
:(2) France 3 Shs o

Q')(3) Japan

(4) Tanzania

|-,. 3

89. How many adxmmstratwe suh- 3

divisions are there in Haryana 20

ki TR Al P
(1) 80 (2 ) 94 (S
Gl @ 7

QO.SWhere in Haryana
EChhat fair is orgam‘z;d? S
() Gohana '..-:.

@ Paiwal I

(3) Rohtak

(4) Rewarj
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- _W/PART = IV
Swarng B ATHEMATICS
Fis . prefeifa

3 W%mﬁ%mmwmwl

cﬁon Answer the follg
lf" Wing questions by selecting the most appropriate option.

|
| gﬁfﬁ'ﬂ AP BBe it
1 ey

:gp TR " =l 91. The volume of a cube with surface

, STIET 8RN
i “ area 384 square meter is :
)’ ) Zlﬁ‘ﬁETS {0?:’5;3\9 .
. e O e (1) 216 m
| (2) 256 HeT 9 i
| o > (2) 256 m
370 ] (3) 484 Hiel 3 .
Fair ?'f > (3) 484 m o
]
{.' 92. aw’ TH fﬁi.’ bl AT, i{ﬁ 3 | 92. Ifthe volume oi a sphere is double
X = BERH "fi =)
f SETT F AIT B, T I Broweti that of other, then the ratio of their
4 T asEESeS

j EZEC RSN %E V ; ‘”"W? radii is : Il
| (1), 2= TG % v 97 (1) 2:1 F—m S8
- ,| (2) 4:1 “5‘ -;“ﬁ‘l : @) 4:1
| @) 2s 1 &
2/(4) 21/3

173513
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st

2" 4+ 21 3
93, (2—_M -2") H HT BT : e -‘;'\
. o IS s
‘L
) 172 " )
E: k\.
@) 3/2 3 W X\

@ z(n-l)/(mu

(@) T X B ‘Ji* &

94. vﬁaﬁwzﬁ:ﬁ;ﬁw%w
I, gl o) et e
awmwﬁg,ﬁﬁ%w'
oIt T g6 fT @ve A ¥ 7

(1) FoFir
(2) SHfe
(3) Prprafafa
(4) i

93.

94.

P ; buﬂd.mg block?

S ) Geomew' |

GET IT ON
Google Play

2" +2" | 4. 9
The value of (—27,;7:'2:1‘ is :

(1) 1/2

(2) 3/2 —

1)/(nt+1
201—)(!1 )

(3)

(4) None of these

figures, and spatial reIa“tie

points, lines and pl ,,,,,,,,,,,

."--‘r 1

(1) Algebra J.

(3 Trigonometry

: [LEVEI-'I /51 01 ]
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aR a, b, c Rya)

95- SUCE S
araad vV R ey H
1 T T s ¥,
T o S 2
. b
Y o
(D E(a+b+c) \ W\D+L”\j;5
o?&eh“‘f:ﬁ""}
8% 5 b
(2) g(i+*1~+—l-] %ﬁ e 7
. a jpbia't i;ﬁ,r_ \\@\
2s. i &)
Shevesp ol N
is j«‘/%ﬁ
W ozmeno @
h’ =

g6. O UEAFA H aRud FA B
o R afedrr & Sww Afdw
S ANAE Gy & A 3
&g H foar mr B 7
(1) fawa gftesmror

RO 1
(2) wifer gftesdror Rl
(3) THHT B

Vi

(4) FANSH i

GET IT ON
Google Play

[25/C1]

dl
Ak
95. If V be the volume and S be the

surface area of a cuboid of

_ _—
dirri.glsions a, b, ¢, then 7 18

Is
e to:

["“
(@) ‘%-(a+b+c)

10
&) %GJ’SJ'?) )

2S

& (a+b+c)

4) Z5@+b+0)

Ly
96. Which approach is mentione
comBination  of ¥ logicall

(1) Topic approach
_42) Spiral app i

(@) Psychol

% % % RiQ o8 / Space For Rougt

™
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i ticia ;
97. Ry TP F 198w W 97. Which Indian mathen"la ician magq, e
Wﬂ?‘-&“ﬁ e T, ST significant contributions  to ;
Hgﬁauf\. 7 =% gaa e theory of numbers, fractiory :
R, differentiation, and elliptj,
r“;,’ functions in the early 19th century 5
r‘h—
3 SRy & . (1) Brahmagupta
v s R _A2) Srinivasa Ramanujan
¥ e (3) Aryabhatta e
4 -
by » (4) Bodhayan

98. \ - Sl
R & & g ST 98. Which of the following is the sec

TErT : . ol el
: 3 mu%) i step in the inductive approz}f:klt-:.? -
) TR~ I
5‘ (1) Generalisation S
(@) 99ms - e
(2) Verification
(3) FFdEHT - £ = TR
: . (3) Observation

~ i
-
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Tlaqe
the wﬁmmm@?g::m“ﬁaﬂ
“hig) meaw%% “ﬂ%
Stic Mmmﬁﬂmw
V2 g7 8 ' St
(1) TEAFIRE iy
(2) ST Tdafyg
3 T H A gy

100- @ﬁﬁaammahammaq

g, Wﬂ%%ﬁﬁﬁiﬁg&m
2 ¥ g Ay

(1) 11%
2) 10%
=

(3) 5%

4) 5%%

GET IT ON
Google Play
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99. Which mathematical forraula is

often referred to as one of the most

Temarkable and beautiful results in

mathematics due to it's connection
. of seemingly unrelated quantities ?

./{‘1_5 Pythagoras theorem

(2) Euler's Identity

: (3) Fermat's last theorem #

UL )

(4) Newton s law of Gravitation

"“m ii"-__

‘sum due after 2

£173513;
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&

@.(wfolmwﬁ 100 Hrer @
# 10 dpvs 7 gy e ¥
gﬁﬂ Ty A (Reerdeder) &
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101,

cl?"s
(1) 10 g‘bt\l“’ ) 31%
a %
(@) 15 ls,ﬂsﬁ‘?,,_,, T
O Qs =
(4) 100 r~ 3
o e

102. A & R & 12 RF & a1 gy
¢ T B o dar A 15 Reft §
T T AR ¥ A Pt darc
TG, & I Rear 9T v 7

20 ™M
™
2) > Ry »
“ o O @
B
@ domy ey
b} ‘b}/
(4) 3feT 9

101.

L S

102.

"(..1) -2-9 days
& 3 -I,qv

GET IT ON
Google Play

A 80 meter long train passes 4 100

meter long platform in 10 seconds.
The speed of the train (in km/hr)

108

is :

(1) 10

(2) 18
(3) 54

(4) 100

(¥
A can build a wall in 12 days while
B build the wall in 16 days. If
build it ‘°geﬂ--‘erv-_+§“’%1§tf}“f“'__._-’
they take ?

w7 BR FEAE
R e

(3) 20 days
(4) 3 days

% Fd 3 R'lt{ ST / Space For

C173513

s b i
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ses a 100
seconds.

rhile
hey

X4)B¢%WEBIWW
j04. I 3 TBY A 5 W @ 8 @R

T FE H 38 RA F we w7d T,
“W*ﬁﬂsm g

si¢
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&
103. What represents the truth set of the

Negation of an open sentence P, ?

f29/C)

(1) The union of the universal set

U and P,
(2) The imersq,;;ticn of P, and U

-
) The complggnem of the truth

r-
set of B, T

O
(4) The truth set of P, itself
£ 3 men or § women or 8 boys can
finish a work in 38 da-y;,m the
number of days taken by 6 men,
10 women and'8 boys to finish the

104.

work is : Ln v‘staﬂ'ﬁp G,)
(D4 oel RS
WOR: Bl [

) s

() 107

%w

[ Level-1/5101]
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105 TR @ R s gw 120 '@

WIS P e @
(1) 8 I
s
_(2) 16 \9’; ii
2
- " % i sa
3 14 e o
) AL ¢ q';
\
- s

106. %ﬁw%w e |
oA 3 e e e 7
(1) Ffepor :
> @) T & R e At e

@) T T am
T F

GET ITON
Google Play

105. The numb% of divisors of 12, 40

including ““” "
:
|
(2) 165536 I
(3 14 =13 ()

4 12

concept f°1' @

s ~fe

; ,(1) Categonsau%

Level-1/ 51011
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107. "
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Mathematics is the language with

s TR ' e HIH which God wrote the Universe.,
&7 who said ?
(D STEH & S: (1) Isaac Newton
LM
2) e GTEW’ (2) Albert Einstein
R
@) TR efeh™ (3) Galileo Galilei
_/
(4) TEETFITE (4) Pythagoras
. ! ._- {59
e afc ABC Uh B ® If ABC is an eqt"111;*!‘1'@’-“‘1L tn
108. LI Sel 108
i AD, BC W @=&d ¥ @ (AD) and AD is perpendlcula‘ ol
.
L T ) then, (AD)” is equalto:
('Y‘} '@ - 1 ."_:
“ b > . - n.tﬁ.._,
et -
Ly e 3
M 5 @O O :@) ) 5 8"
' e 5 e ¥
E:;t:‘ ] D q;? ' ”mf
@ 20O M T d) @ 200 m' |
: p& 7 2
p.‘D
2 i G & (DC)
3) 3 (DC) he
A8) 3 (D¢ mﬁ»% w“
4 4
@) 40 JORIC)
% Fd & [ S / Space For Rough —
0\
0 o
2
g + m
/
/'\
n/‘F c\
at ‘""sb
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[32/C]) gj
109. CLA w1 ® R 9 -t
2

frafron ©

(2) TE F AHR T T99 T BTN

(S)Wmawm%ﬁrq
Jpd BT

S (@Wﬁ?ﬁfﬁ:ﬁw 2
Wﬁm"aﬂ%am,

H i
110. f=fofed & %})m@ R i
TS R & iy s ¥ 7

(2) ST=9vTeHE ffy

GET IT ON
Google Play

109. In a CLA classroom, which one ig
not the teacher's responsiblity ?

(1) Structuring task and setting
the goals.

(2) Deciding the size and

selection of groups.

(3) Providing rewards

individual and gro_ul,? Yf:rk.

_f4) Allowing students to
freely without any st

ot

110. Which of the followi

teachmg stmtegyaf.or.___ _. f

» -'ﬂ‘_;-
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qﬂ}' o O \.f\-’ff ’\C; - w\w/\ﬂ
X r’\w-é(%/ & E'E Q“*/\..’A \4 L
\ b N % {33/cq
aR f14.25 "

e iy "lag =(1*i) S ’ 25
? a9 8 18y Sha T 1. 1+m=( +%] then value
ting @) 1 @ of xis:

‘(3) 3 e 11 2 2) 2

(4) 4 Ty
2 3) 3 p (4) 4
ind ;
; BE B Gﬂf:er o S 112. Which type'%i) evaluation focuses
foT gfafear gem Eﬁvﬁatm 4 S on providing feedback during the
y $? W Bfea instructional process to help
students to improve their
understanding ? 2
s e Gl (1) Summative Evaluation

(2) FAFAFTE S gedise :

(3) UrE® qeisw A

(4) eI TeEiHT

113. 3= A, B, C dF @ g &, @@ 113.
forgell @ T arl qoal S qE
gt - -
(1) 1 (2) 2
3 3 @4
e /

G P @ T

."'

Spac
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B, T

a
[34/C) e "’.‘:_1
“0
114. O 3% a3 & . vy ioed ) 1
TP RFAwac 114. AC is a fahgent to a circle with
il I OAC o THfaEg centre O atlll(:;he point A. AOAC is an

g f .
% & coca R LR isosceles gﬁangle. then ZOCA is

equal to :
(1) 30° _(2) 45° c-
i (1) 802 (2) 45°

< jpaleD; 60 (4) 90° (3) 60°%; iFrp ((4)E00°Spg
115, Fefofes 7 3 PI-TT T Gareqor 3 115.

AR 3w ¥ oy g

9Tfer & 7

ﬁ‘-ﬂﬁﬁmg’ﬁ%ma}a

Py Saine —

(1) If a prithe number di
then it divides eith

Z?Tba%ﬁqﬁaml
¥ (3)%-3@&?'%%@-@%@
TR B ¥
(3)%%%641?&35%;57%
180°Eﬁﬁ'r?g;
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143+54 .
. 116 Toes—t 3983
rcle with 992 Ty % :
AC is an (1) 1992
'OCA is (@ 1091 L "
3) 1990 /\"/
(4) 1989
P ™
P
= :
117. T TR q@ w1 A 2
s an 10‘\’;&“@ 1
7.3
rem 6, 73 134, 7 '-Z_E%
4(1) 125 x)."3}0..\-1 5';" 13 rﬁ;
N % \
L o
_A2) 217 > 2 o 3 e EEE
I (3) 225 _g R =
2l
. 3 9L
- 1 a8 —
'-0 ( Yy lo
118. el AR aiﬁsnﬁ 3 ot & fm
for@r &t ? U
(1) fircfied & 99
(2) TEEFIRE

(3) gHTS

(4) A

GET IT ON
Google Play
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116, 1+3458+........ + 3983 p—

(1) 1992
(2) 1991
(3) 1990
(4) 1989

11Z. What is the next number in

following ?

K Eon
10, 17 36, '13 134,?
"'"_7"'"'\*_’? -—";" = (> i
(1) 125 st . e I
) 2117 1--'%’&
@ 225 5 18 rFa,H .OII'
3 st e
(4) 1117 o
':- ’ ‘ ol B ...B .
118. Who did write down
logic for the firs
J4) Thales of Mil
(2) Pythagoras
(3) Euclid

| (@) Asistole
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qm'
119. wPrfiT o7 &) war @i $E % 119. What is the method i '{1::
Ry # % orer & ? establishes the truth of !?f
5 mathematical proposition ?
) 5 1
(1) 9 (1) Hypothesis
(2) IRFHT :
/(2) Con]ecturel fit
3) AT v i
- () ) | (3) Proof. imsi st
|
(4) greem :’ 4) Assumpti'an.,' e HE
9] ;
120. 1 % f ; .
+ A T 31 P ey R 7 FeAsl @ | 120, The - sumiiof
?ﬁ"T‘Eﬁ'%: b . o
‘“"S - - between 1 and 31 :
¢ g , ) ‘ i
(1) 16 ) ""1 i : R
P : Y’ 1) 16w =)
%, PRI
(2) 128 e .
/H .,Vu? :
_A3) 240 % 0.
3) 240
Yy (4) 512
ap)

Ci7351
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ﬁqﬁi‘aﬁ ey NMe ﬁ (37/¢
: ¥ Gﬁ'{' ';; L STUD)|gg

pif" "g qu W P g R
Gatlong by sel (Vs
L 8electing the n'nul appropriate option,

aﬁl%ﬁ;ﬂmﬂwmmk 2y
?

1 (]
21. In which part of country is 'Thoom

A i farming' famous ?

(2) R= (1) Northern

3 Ja-gAt . (2) Western

(4) IR (3) North-Eastern )
(4) Sofithern

I‘]alﬁl]@ﬂ A | it el

BEh ‘ IS eHT) ﬁﬁ ﬁ‘ﬂﬁ-m S (eereor 122. Whichr'éne is not an indicator for
TIHT 3 R Rty 3

expression of student's expﬁ:hmn .

! for assesamentmm_?" e '
CEEI FETE (1) S
& - (1) Drawing 1? et
e e "
(2) SRS T (2) Body movements r:.) ;-_
(3) TAED AGT , (3) Creative wmngm @,

(4) STE _(4) Inferences

23, “drEd @ gBeT B W A W

1 - -5 | 1
4) TﬂﬁqT mm.w} (%)
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124, A B I AT ge { ow

(2) AR
(3) P
(4) TS

126. TEE g@a 3 fF WX W AR
T 8l AGEN 2 & ?

(1) 7o Gft &R
(2) fafg ot w@
(3) T g &
) 7t i e

[ Level-1/5101

126. Whlch r“'RrQ'-

GET IT ON
Google Play

- |

parating petroleum |I| 121 -

ents is
into its different comporn

124. The process of se

called :

D Refinindr"_}

(']
imentation '
2) S«adn'rter_~ 5T .
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(1) Asking children about difference
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